Quiz I, F5360, Summer, 1995





1.  You have recently gone to work for Dole O’ Matic Inc. (a firm that refurbishes old food processors so that they can be used to concoct combinations of political ideas in order to satisfy ever changing public opinion).  You have been instructed to find ways that Dole can stick it to the bondholders in order to benefit the firm’s stockholders.


a.  What actions should you recommend and why?


b.  Discuss what might limit Dole’s ability and incentive to undertake such actions.





2.  Today, you plan to deposit $100 into a savings account that promises to pay an interest rate of 7% per year forever as long as you leave at least $50 in the account.  You plan to continue making annual deposits through 35 years from today, however you plan to increase your deposits by 4% per year (after the first one).  How much will be in your account 35 years from today?





3.  Congratulations.  You have just purchased your first new car from your local General Mediocrity (GM) car dealership.  Because the car market is slowing down a bit, the dealership is offering terms of no money down and no payments for 6 months (the interest starts accumulating at once however).  The rate on the loan is 9% per year compounded monthly.  The first of your 60 payments will be $1100 and the payments will increase by 1/2% per month.  How much have you just spent on the new car?





4.  You are considering purchasing shares of MicroScarft (a software company attempting to acquire all other software companies for purposes of creating a software monopoly).  MicroScarft is expected to pay a quarterly dividend of $0.60 per share one month from today and is expected to maintain this level of dividend through 5 years and one month from today.  Thereafter, MicroScarft is expected to pay a quarterly dividend of $0.75 per share forever.  What is MicroScarft stock worth today if the required return on MicroScarft is 6% per year compounded continuously?





Check Figures:


1.  a.  increase debt, undertake risk projects, increase dividends; b. existing restrictive covenants, would limit access to credit in future, debt may be convertible, management unwilling to undertake such actions since increases their risk as well.


2.  24,400.03


3.  58,700.97


4.  47.42





�
Quiz II, F5360, Summer, 1995





Use the following information to answer questions 1 and 2.





You are considering investing in Newt Hampshire Stumps Inc.  As a part of your analysis, you have collected the following return data on Newt:





Return on:


Year	Newt	S&P500	T-bills


1992	19	24	5


1993	-4	7	5


1994	16	-5	5





1.  	a.  If these years were representative, what is the expected return on Newt in 1995?  


	b.  What is the standard deviation of returns on Newt?





2.  You seem to remember hearing something about beta and that it is important in determining the risk of an asset.  What is Newt’s beta?





3.  Your boss at Lotus Business Machines (LBM) has asked you to determine which new software product to pursue by looking at each product’s internal rate of return.  What problems might you run into in making your decision?





4.  Assume that the yield on a 2-year Treasury strip exceeds the yield on a 1-year Treasury strip and that you believe these rates will be unchanged one year from today.  Assume also that you plan to invest for 2 years.  Based on this information, you have concluded that you will earn a higher return with less risk if you buy the 2-year strip since you will not have to reinvest after one-year at an uncertain rate.  Is your conclusion inconsistent with the general relationship of higher risk/higher return?  Explain your answer.





Check Figures:





1.  a.  10.3333; b. 12.503333


2.  0.18681


3.  (1) project with highest IRR may not increase wealth the most since ignores scale, projects w/ LT cash flows tend to have lower IRRs, project may be more like borrowing; (2) multiple IRRs; (3) no IRR; (4) can’t compare projects with different risk; (5) non-constant required return


4.  No.  According to Inflation Risk Hypothesis, 2-year investment riskier (almost all points for discussing why this is the case); Also according to LPT, market dominated by ST investors, these investors are compensated for higher risk of LT investments (points for explaining why), however, LT investors do earn higher return for less risk.


�
Quiz III, F5360, Summer, 1995





1.  Because McRonald’s Inc. has achieved market saturation, any additional expansion of the company will have to come through expansion into new lines of business.  Accordingly, McRonald’s executives have proposed a number of such expansion opportunities.  As CFO of McRonald’s it is your responsibility to evaluate such opportunities.  What is the best way for you to determine the required return on such projects?  (Be sure to justify your answer).


2.  Despite conflicting empirical evidence, the rationale behind market efficiency remains compelling.  Explain why the competition between traders and the elimination of arbitrage drives markets to be efficient.


3.  In their 1992 study, Fama and French find that those stocks with the highest market to book ratios provide the lowest returns and that those stocks with the lowest market to book ratios provide the highest returns.  What does this imply about market efficiency?


4.  In your analysis of Warmies Inc. you have estimated that Warmies beta is 1.25 and that the expected return on Warmies is 17.5%.  You estimate that the required return on the market is 11% and that the return on T-bills is 6%.   The standard deviation of returns on Warmies is 32% and the standard deviation of returns on the market is 22%.  


a.  If it is possible to do so, set up an arbitrage involving Warmies stock and show that the conditions of arbitrage are met.


b.  What might you do to reduce the risk that you face from undertaking this arbitrage transaction.





Check Figures:





1.  plug average asset beta of firms in same line of business as project into CAPM.  Advantages:  reflects risk of project rather than McRonald’s existing assets, reduces sampling error.


2.  competition:  if price < value, wealth transfer to buyer, if price > value, wealth transfer to seller.  => both have incentive to be fully informed and trades only occur if price = value; arbitrage:  since no risk or net investment, there is no limit to size of arbitrage.  => drive up price of undervalued assets


3.  Haugen concludes that suggests inefficient market that overreacts to expect growth long after typically reverts to mean (4-5 years).  When growth fails to materialize, stock price falls.  However, forthecoming study bo Kothari, Shanken, and Sloan suggest study has survivorship bias that drives results so no implications for efficiency.


4.  a.  rarb = 5.25%; b. there is already no risk.





Quiz IV, F5360, Summer, 1995	





1.  The directors of Out of the Grey Inc. have recently announced an increase in the quarterly dividend that the firm will be paying.  As a result, the price per share of Out of the Grey has risen.  Given the  personal tax penalty on dividends, how would you explain the markets reaction to the announcement of the dividend increase?


2.  As a major stockholder in Ashton, Becker, and Dente Inc., you have recently suggested that the firm issue new common stock and use the proceeds to repurchase and/or call a significant amount of the firm’s outstanding debt.  What might be the rationale for such a recommendation?





Check Figures:





1.  seen as best use of excess cash, signal of management’s optimism about future, increased chance of monitoring since increased chance of security issuance, expropriation from bondholders, market out of equilibrium and satisfies clientele.


2.  Firm has so much debt that financial distress costs exceed benefits:  expected bankruptcy costs high; low chance of fully deducting tax shield; loss of confidence leading to lost sales, key employees; mgt simply avoiding bankruptcy rather than max. value, costs imposed by B/H too high (covenants too restrictive, excessive monitoring, interest rates too high).


�
Final Exam, F5360, Summer, 1995	





1.  In a large corporation, the interests of stockholders and management can diverge.  How can stockholders protect themselves against such conflicts of interest?


2.  Among the tax restructuring plans currently being considered before Congress is a plan that would eliminate the taxation of dividends, interest income, and capital gains.  It would also eliminate the tax deductibility of interest payments by corporations.  How would such changes affect the optimal capital structure of the typical corporation?  Be sure to justify your answer.


3.  How would passage of the tax plan mentioned in question 2 affect the optimal amount of dividend paid by the typical corporation?  Be sure to justify your answer.


4.  Your firm, Dole Bananas Inc., is planning to expand into the graft business.  Based on the following information, what is the required return on this expansion?


Company	% Debt	Equity Beta	Debt Beta


Newt Graft Inc.	30	1.0	0.2


Cheater Bananas Inc.	50	1.2	0.2


Slime Bananas Inc.	20	0.7	0.1


Kennedy Graft Inc.	80	2.4	0.4


Pac Bananas Inc.	70	1.6	0.4


Graham Graft Inc.	60	1.5	0.3


The return on T-bills is 5% and the market risk premium is 6%.


5.  Five years from today, you plan to begin saving for your retirement by making your first deposit in a 401k plan.  You will continue to make annual deposits that increase at 6% per year through 35 years from today. You would like for your first withdrawal from the account 40 years from today to provide the same purchasing power as $35,000 today and would like for your withdrawals to increase at the inflation rate through your last withdrawal 58 years from today. You estimate that you will be able to earn a 7% real return on this account and that inflation will be 5% per year forever.  How much should your first annual deposit be?


6.  The current return on a 1-year Treasury strip is 5%.  Current forecasts project that the return on a 1-year strip a year from today will be 4% and that the return on a 1-year strip two years from today will be 6%.  If the liquidity preference theory is correct, what can you conclude about the yield to maturity on a 3-year Treasury bond paying an annual coupon of $60?


7.  The standard deviation of returns on the S&P500 is 24%, the standard deviation of returns on Clinton Blinks Inc. is 28%, and the standard deviation of Luxury Imports Inc. is 32%.  The correlation between Clinton and the S&P500 is .8, the correlation between Luxury and the S&P500 is .6, and the correlation between Clinton and Luxury is .5.  Will the required return be higher on Clinton or Luxury?


8.  	a.  What does option theory suggest about corporate dividend policy?  


	b.  What is the rationale behind this conclusion?





Check Figures:


1.  incentives, elect active board of directors, eliminate bariers to hostile takeover, increase debt to take surplus cash out of mgt’s hands and concentrate mgt’s ownership, increase dividends so increased chance of monitoring.


2. less debt:  tax shield gone (M&M), no incentive to have debt since TC and TP = 0, => if costs still exist, optimal debt less than before.


3. higher:  no longer higher tax on dividends => no longer avoid avoid taxes by avoiding dividends by repurch. shares, etc.


4. 9.68%


5. 3130.86


6. > 4.97811%


7. Clinton since bC = 0.9333 > bL = 0.800


8.  excess cash:  desire increase since increased std. deviation and lower firm value cause stock price to drop less than dividend; stock issued to pay dividend:  indifferent; debt issued to pay dividend:   desire increase => no change in firm value, but existing bonds riskier so gain at b/h expense.














